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The professor collected the papers himsel f. /kalektid/

The professor corrected the papers himself. /karektid/
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’s a great pleasure. / 'plezd /

*s a great pressure. / pre[d /

FEF AR AL, R EHEAER
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Could you give me a helping hand?

et “could” —IAARBHER Akud/ (A YEHEERE “you” jui/i, EHE /d/ 5
i/ LR S — S/ d3 /o mABEXFELIE, — BE /kudzw / B
RBFERAFET =

B

i R ER SR HBME LR, W

in an hour EIEEM T / insnaus /

worn out JEIERET / wornaut/
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Bid AR, Bl

You have done a good job. / ju: hav 'dan @ 'gud d3ob /
I will tell you how to do it. / ail tel ju ‘hau to dur it /

TR X FE S R, A e R A A2 IR B 4 JBE 0 B 3 L —
il
HFEHE

T ESAGEEEREEEN—FIEE T, Hith R EEESEENER
WRHE. .
Son: Mum , I’ ve got a B in my math exam .
Mum : So you have passed .
have Yﬁﬁﬂﬁfﬁﬁﬂﬂixmhﬁii,@iiifﬂ%ﬁ@i%,—5%2%%:“&%5& LLAR AR A
LRk LN, FEEEHIE P “can’t AL / kant /, W= PR F T A R LUR B
ﬁﬂ"]iﬁjﬁﬂ“go"ﬂﬂ',“t"ﬁgij&‘f%ﬁ,uﬁﬁﬂéiﬁ can 524 —#E, XH| “1 can go "5
can't go’ B‘J”ﬁ*ﬁﬁ?ﬁ%“can’t"#ﬁ‘ﬁ@i%,ﬁﬂ?g‘io
B
@Hﬁ@?,iﬁﬁ?ﬁ]ﬁl?ﬁ%ﬂifﬂﬁﬁ,ﬁﬂ%ﬁﬁﬂgfﬂ%,dz‘ﬁﬁ%’lﬁi’iﬂﬁi
W,
(1) A burglar broke into his . house last night .
(2) A burglar broke into his 7 house last night .
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M. The city council has finally voted the funds to build a new high school .
W . It’s about time they did it. I don’t know what took them so long .
Q: What’s the woman’ s opinion about the school 7
A) It’s too expensive . C) It should be built .
B) It isn 't needed . D) A college would be better .

B TS REATESREEE —TRHEAPFE L TEER, “It’s about
time they did it.” X B i@ did FRBHIES, BERMBIIRZXHEBT " BRIHTK
BRUBE—LNEERIB/AEBX —ERAR, B FRBIMNIEECH
7"

3. BRI5EE

PR SEERRHEBENER S ELFENNEN P EERNARARERN R
AR A YT, iR T B2, BB T H SR, EIE “pick up”
BRTHEBE" BN ANERRMERE" “EL” “HEEARATE. FEUR
BTk A bR 5 EENE L

4, HERAMBSIMREF &

W ohE RS AR, B A IS IR R AN WA A R T RE, A
SRR A FLFELRENRD, TEXBX—ERMMNOARGERE AN,
BT HRAARZI, ELFBEDERN—BIRRETE, H0.

a. Ican’t agree with you more. B4 L8 A &R Bk,

b. I don’t teach because teaching is easy. HAEFH F XA RLFFEAKF S

Do
c. You can never be too careful while crossing a busy street. FiL— X LB ¥
e Al T RS,

ZL XAERAR

ERARRPEEAHULTET AT, HRFAEHHER. XFHERLKE
BEARHTARRXAT RMAMERN, BRERNISGH, BELBEH KK
AL R, XRAEERN

LA 6FSH1 K58 16 AR5 . .

What are you advised to do when you get a wrong number in making a long dis-
tance call?

A) Check your number and call again .

B) Tell the operator what has happened .

C) Ask the operator to put you through .

D) Ask the operator what has happened .

RBRIFHE RS —BHREE TBIX AN SEAT .. .., call the op-
erator and explain what happened. "{B#1A #iE — M HERBEMERER B). K
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FEFRRZ -HFREIBIIBRS X - HENT RN, ANEEXBTKERER
BEBNTUFRRKEERIERATHEY, ATRR T W HERLOER, HIE 20%
REARFHEERET A) T, ERUNERFEHCHEE, BERBEETHRE, B
M, ESMEEI P EMEEARERAMANBR,
BEYRMARERENESTHNER IREERAREES &5, MR EFTRA
RATHN, WEAREATRRIERMER, BTERBRASHERAIVEEIXR R
REWHERENWERRGEREERFETE S,

 EARUT S

vi

EEBAFESNIBRT, FERTRKEFEROETHRM LT RARZS,
UKD FLENRASE ANESETHETESS HTERER EL5EH
MIEHERH L BEE,

1. HRFEFR

XEGHERNEEAS AR FTEEGERAATRFTHEHENREELY
Mo EMNEEFRX LB LARES - NENEEZER ANEAFY
BE UBEKAS Biltkt, FHEEFRHAERERER, WEHEEHE
SHEHHOTRT 2SR T HXBENE - ARBRE—T. 11 6DWHL H 1
iR
M : How is your father, Mary? The last time I came to see you , you were

about to take him to the hospital .

W . He returned home last week. The operation was very successful . The

doctor said he’d almost recovered and could go back to work next week .
Q: What did the woman say about her father?

A) He is still being treated in the hospital .

B) He has had an operation .

C) He’ll rest at home for another two weeks .

D) He returned to work last week .

AFEERNET B, BN KEBRARGEENET, RBBFEEXNT
HHREPHIEFER  BHCEFAR,CHARE, IREBERER
MIREE, B AR CHME L 2% A4, REDAMAL 13%. HEET K
WS, AEBETERFL, MEREA TR EFEEY. EW %P —
EEAMEE,FURES  ETHEZZGR  EHERAN,

AR —-FEERNLER RIS ABENRIT, BEEETHRE
R, AEREEASRIE XMENERNNGTEEERF.

2. fEHIE B A

1) ERFIHZE
EMFEPRIEARELTEMEEAERRALEST, Wﬁﬁ@ﬁ‘]ﬁﬁﬂ%@
ORI AU 250 DA 18] 42 [0 5 o B S AE R AN B VT2 B, A0 FE 6DSH2 &
BTEPEXA—HME,

M : Did you watch the game last night”



W . I wouldn’t have missed it for anything .
(REH 2R ERX I E)BREZ, “RYREF T XH LI
2) ERBFERERORETIE
pup
I hope these apples are as good as they look .
HEMZER“BHXEERAMENE LEBAGFE,” XRMEYRT
BRENM - HBHOEEL, ERERSHERNRETENRE -TEENT
WAk d: A
3. ARG S EH.0BE
E 6DWHL £% 7 B —AME,
W : Could we drop by the lab for a minute? I have some experiments

running that I need to check on before dinner .

M : Sure. I have plenty of time. I’ d be interested to see what you ' re
working on , anyway.
Q: What will they do?

A) Go to the lab for a quick look .

B) Check on what’s for dinner.

C) Have a run before they eat .

D) Go and see if they have dropped anything in the lab .
FEERNET A, HEMRGEEBNET, R A 4% WS REFAFEEEN, EH
BERRIMENGE , BRI, MARE RARE—A3E, EARIERF IEHE
B, Rk BIIREIL 37%, BARXEE AL JUTH# T check on, dinner, M AGEEIER L
HBRIEHNE;29% WEERET DI, FEREM drop E LT XFHHHIE L EF
10% B EAERET C I, 1R’ A EE “have + ZiF + V—ing"X— A& R run #7H)
#5175 X,

SEBPAR—BRAEANTAEE, BEAESER, LALIRE NEA BRI

M. EwA BT E 3R

ERARHTE IR ERR W HERBNRIE, A,

1. W E, BREX

2. WTHIETER

3. MERERIEIZ (short term memory) 885
4. FEWFM (prediction) BT 1R .

BT REAERN SR ATRERNEEER A, WREFHANGFER. 5
MPEEEANER, NEETREAE, AN EC/EL RN, XMEHREEENT K
BB — EFNGPERSTER,

B EXREENMRETS, MARENKFFRELS, XRFRKBENME, B
MARBE T B XM AT H R TS, B WA L8 — 5, BEEREH B (]
BREELAETHRAEGRE . AREEE ARG LM KETIELED .1, FEH
SFRET TSRO RE;2, FEATFHRE-TERAE, B FEREGE

vil



M3, BERENENE A, B RREEERHNE ZmEREN,

ABRENR L, CBEETEARE X LW O E, BEELLERE T, TREFTR
ERERTHEHRATREEENRFESE 2, A FHBRE - TERABAETERESE
R, B GEEBERNULEPEAN ) HE ESIBMIARINE R FRF0ERK
TAERAKFIERSXWEER3,“FENENEFNRE _O"WER MRS, ZF
6FSH1 %% 4 M.

W . Some people know a lot more than they tell .

M : Unjfortunately the reverse is also true. .

Q: What does the man mean”!

A) Some people pretend to know what they really don’t.
B) What the woman said is true.

C) What the woman said is wrong .

D) He knows more than the woman does .

EHEEHENRBERERNTELZ LB —TE RERETBNIEZEAEEE L
B .“. .. the reverse is also true.” B X ¥ “Some people tell a lot more than they know.”
IRAKTHES —MEREERBERER,

FLER,WAIGE - FHUBE RN EMRENSEENE, MEXFHAERTXK
B, B K SR AU N i B T R R A iR, W IR IR A B B AR R4S R T R A B ¥
EFFTW NG, UMEES S TP REFMBERFOE, ARBERNZ 5ERZHK RS
T T #5t,

%] 5 B A B

REEXEBAMORFEBHFRPRE  KERBHENENRBEFRFERTR
SRR, — BT HIRR T, U RIS B MRS, B EBUKEN TR , KB %
VAR ENER, FNH# S RBIEKTFIT TRENEM, TR, RERRER¥IER
B FEEFER, HEXERRE RRFERVEERBH&E ARMBEFTRERE
EWFRERNEEFER, EAFREFRKXEMRF, FERINBI LT MR, B
BAMALNERK, XHURENTARMEEHNRAFREREN ETEFERE X —-BE,

FriB 8o R BERE 7 , 15 DU e BE AN DR SR IR N Tl o 7E DR BE 7 I, B K 49
HMEANRBERESBBIE 70 MIIERE, XK HEEERKRES PHEBEY 10-12 K
R, RAMLNLAME. REREZLNKSHR P EERD S0 35 7060, R\
ERAEFHEHER, AN REBRIEAN 1400 H, BoFEERREXFKRIEE
BE, W W ORA RIEME B B N iR 2 BAR, YR E W REERI N/

RFERBHZRPHHEEBBS> FTERATRES

1. EEFEMEHEIEMRE;

2. TREFEBMRENFLMHEY;

3. REBRFEER, WAERIE ST —E A B HEL;

4. BBEHEAHOTHEN, BERETXHEEXR,

MEBRERXIERRE, ARRFIEFERBERT LRENYN, TEHIL T EHEEHFE
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1. AICRESHESRME ., REFZEEALAT KALCE, KEEEHERAAE

ANRERER 5,300 TR, HIMER S HREE, BIREAR 0 EERS
o LR H K 49 1) % 0 26 1 B A o SO R R X, (R R A L B A 0, Rtk , Jn R 8
AHEEKRRAFERRL, iR B B, i, U IERERFE L, ERHEAN
HEXR, BN YA B B EEE,
. 4% 6DWH1 % 30 &
30. “An identifying figure” (Line 2, Para. 5) refers to a person

A) who serves as a model for others

B) who is always successful

C) who can be depended upon

D) who has been rewarded for his success
EEEGEEN - MIANBEXHWERER, AXBEAZEAEMEERERE
AT, B 63%RIEEENT A, RAIE an identifying figure BT & LA A
REE XA,

2. BEREBETHPHENXR A—ENANBRARBG TP, RR—ERBE. B

GRBIED: R R IRERE R,
#ilan, X% 6DWH1 %8 22 &
22. According to the passage, it is the telephone that

A) has made letter writing an art

B) has prevented wars by avoiding written communication

C) has made the world different from what it was

D) has caused wars by magnifying and extending human conflicts

FEAHBRBARY, A RBENER, BEBERI—TTZAR"(AT), 2 H
FReRFETEMMAILRSREL"(BMH), B“ELESHASTERA—H"(CH),
BRY K MFEAMIZEHHETMG ZEE" (DI, BRACHRERER, i
60% WEAEEN, ENATEXREN LT XNESR, BEAEBRANDNAEE
BATBEIH

sk, shiA a8 i B RLES MBI R AR BES A RS SRR B 4
(2R ABAEE HEENEASNSEHETHRTEMBA

T EWER A ST

SR REER, BRTFEEXEREBHER, R ELN ZERXFEHHR
BHER, YR, XBUTREZASKSHANKNES,

#itn . ik # 6DWH2 % 39 &

39. It is possible to find out if a person has adapted to the changes of routine by mea-

suring his body temperature because .
A) body temperature changes when the cycle of sleep and wakefulness alter-
X



[N

X

nates

B) body temperature changes when he changes to night shift or back

C) the temperature reverses when the routine is changed

D) people have higher temperatures when they are working efficiently.
FEET - ABENAT  IH2BKBREHL —TARSE B 2258 T i TAERY
EIR? MRS 3 B 34, EH BB T /EM TAMERE, BB XEEEXL
¥R THEREEZ G, A — A ERT R, R IR A8 S48 =t b 8 38 S 2 B 9 2R 1L T
AL R ARG —L, BT D RER, X—HKETUAX—ARE
#y particularly in terms of performance & i A BEAE, R 26% % B X,
BITERSRIFHEL, HAKTEARLSE, BEARNFAXENESR BREN
R, B0 R AT, A R RS R R L AR

BRERENEXNRER &L
] 2 A A A T R R, R B SR ARAE P i R AT — R o AW A A 8, T

MXEREHEMREBHRE Lo
it . X% 6DWH2 5 31 &

31. It is implied that fifty years ago .
A) eighty per cent of American working people were employed in factories

B) twenty per cent of American intellectuals were employees
C) the percentage of intellectuals in the total work force was almost the same as
that of industrial workers
D) the percentage of intellectuals working as employees was not so large as that
of industrial workers

A E R ET B RXEPRYNED, XEPRETFHBEARRBNE
EREET REHYUFH N, HLREANAFRAE-MTARRRZRETAN, MES
KEERAEREZ RS S HTHHNE, BT N R FERR LR R
B AR BARAS FHHAENFELT A BER D BIERER. HRABHAE,
(Bt R —4Eaaxt, JRAEARSEFEERERTRTARBSHNEN A%
EREENAFBRANMCMNATENNTTHER, REERIETRINE L,

X, ik# 6DWHI1 55 26 &
26. The statement that children learn by imitation is incomplete because .

A) they only imitate authorities and experts

B) they are not willing to copy their parents

C) the process of identification has been ignored

D) the nature of their imitation as a form of behaviour has been neglected

AL XERBE S XHWER, AXFFLE 1 A To say that the child
learns by imitation and that the way to teach is to set a good example oversimplifies, 5
2 4183 X . No child imitates every action he sees, 4= Bt & g — ) X i : Therefore we
must turn to a more subtle theory than “Monkey see, monkey do”, FJ i ,imitation A

BUURE LB S IR T, 2308 2 BLEETEREIERLERE FERRR



R A TR ERE TN, 3 BB 50 /B R o B4 6 S AR 8B R
TSI, AR, Bt — R h o X R IR A R, X — SRR AMT . “JLEE
RBGHTEI " HREERBR T X — K, BAREEN, B, WK IERE RN AR
B Do HH 38% AR ML EEX THRE, AEIGAERNEREPERRY XS
BE& X B,

M. ERKF LR
REMARERIEBETGF KT L RIMNATHREERN, ABE XEHHEA
AMART T TEBRBRES b7 B 5 S B e T R VI 45, $84) F /K T 9 (R B2 B A
RBBER KV PR, A R EF AR ALK, EFERXENER, X
BEMERKF EHRRERCQE. AR FER LT XHBEER B EEE BB
BAF EEXEWTEIE ELHERHER. TREENNANSESS,
1. B ETFTXHERXR
Bl . ik % 6GSH2 % 31 &
31. People in the18th and 19th centuries used to sleep about 9.5 hours a night be-
cause they had
A) no drive and ambition
B) no electric lighting
C) the best sleep habits
D) nothing to do in the evening
A & 18.19 tHZE A8 Xk LERIR 9.5 /D e, FERM AT XERHBREFH
B, ERXEEN T EFEEARSAR . AMIRITEIT A TARAZHE, HE
I8N MAUUR , HTRERHARE, IFAXFRETE, B LRBEEXET,R
WFEREDE, BT LA BEIR A I T MR B ETE ™, B T /e Rk, BT R T , A RETAR%E,
Ryp il s iR At ), 8% b4k SE T, b 51 BB IR A 2 , BIBR AR A9 35 R Bk “ a8 " B
BT. HETH, AFEHNERE B, BRERAVBBSFWHEEENTAE, K
FHAREER EEEBBRYRIF HMER LT XHNBEXER,
X tn.ik# 6FSH1 %8 23 &
23. Teenagers tend to have strange clothes and hairstyles because they
A) want to show their existence by creating a culture of their own
B) hawve a strong desire to be leaders in style and taste
C) hawve no other way to enjoy themselves better,
D) want to irritate their parents
FRBEREARE T XEBEXRBTHRR. B 2RO IMNE 4WaHERFR,
FOERERARBIEHRERFEA LS ZING, EH L, 7808 7 7 LR B8
MBI EE T BEIWABEMNERTUEHERER A ZER.
65% IR T A,
DA R R, B e R EAEE BRI
2. ERCENLEEE
fian . X% 6KSH2 % 30 &
Xl
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30. What is the main idea of the passage?
A) American firms are different from ]apanese and German firms in hu-
man-resource management .
B) Extensive retraining is indispensable to effective human-resource manage-
ment .
C) The head of human-resource management must be in the central position
in a firm's hierarchy.
D) The human-resource management strategies of American firms affect
their competitive capacity.
AT R EEBXEPLBERESN, BEASXRT UEHALREH L
BRRE.2REATAANRRERNEREHATANRES N, AX—FEiEth, &
FEEAFARFAERAANBRENEE, Bk, W RAARELERFPREFEN
PR, T X —(E 8 R B T T A M AR KT, B8 4 38 B 4 ) 0 T W5 7R K 0 LR
YEEEEY, EEEARAEANREEERIAZENR, WAMKT. MEFR
WENESTERESLAEEARME) L, 28T TANESZERISG, AT
EHTARBAMEBFEA, REARERRE T HARRENEE, MXLH LY
MERATMNES N, BTN, ERHERNZERZER Do H 63%HELEEXT
A, b8 e AR B F R, R EE D R R B REE R

. B EMER AR

40 .k 6KSH2 % 35 &
35. In this passage , the author focuses on

A) the difficulty of a biographer in finding the proper perspective to do his

job

B) the secret of a biographer to win more readers

C) the techniques required of a biographer to write a good biography

D) the characteristics of different kinds of biographies
ABEEMNSXEBEREMER, ERXBXERE, NEHATEERP.LIERAT
%o THERBRE AT “ECERETHEHICRBELHRA", BRHTHE
g R AN T MERE , M S0 B Y position —IARAE perspective, TR A #Y T
BB IF, R HH perspective —IATE X B A E B, MF 2 E X X FEH position —
FHEEAE, ERDNERERBRBAES . FRRERYA, RF 39% RARFH
X B IR

X in. k4% 6DWH2 % 28 &

28. According to the passage the problems of college education partly arise from

the fact that .

A) society cannot provide enough jobs for properly trained college graduates

B) high school graduates do not fit the pattern of college education

C) too many students have to earn their own living

D) college administrators encourage students to drop out

ABEREEGESHNRF AT HABHEBENRSEE, £3ERF-TRE



TorERE AT RRAKREN 2 FW JIGAERMWRERVE, HilK, %5 A
RER, HOT%MEEEN, B 11%MEERET DM, XEH2EBEBE K
BRI TN REZEINBHERBEMNEERFVEDSE, EXARERKEHT
I AR EEREE,

FEIRRAHEHERFENEN,MEBEETHTHHTAR BASZS KB
EEBBNTR., BEEEIEFRERIMEHRF LR,
. GE
#ian . A% 6KSH1 % 39 &
39. The author is of the opinion that Coleman s beliefs are

A) biased C) insightful
B) popular D) superficial

XE—-BANZEEFOER T HTEESHRNRE, EREELEEREANZE,
FHENRENRE  FEABERBEENNRENMNAFAMBPEE, k.1
EHENBR/REMWER AT the novel views of BIFM ,novel Z“FHFH"HER,
BREBGESIBRFAL EEECTHRENMAATE NN BEREFE
BHGEEEEFHREZ AR RKENMAE, RAMEE — R (the scales have
dropped from their eyes) , F i T X ER K FH AN ME, 7T, B REHWAAFMN
RIEHHN, T EREMEI B +IETN BMEARENN, CHARERER,
BEXNABHRE B BHABFHEE,
. BEAEWAE X

Fin . ik 6GSH2 % 39 &

39. To knowingly allow oneself to pursue unhealthy habits is compared by Fries

and Crapo to .

A) improving the quality of one’ s life

B) limiting one’ s personal health choice

C) deliberately ending one’ s life

D) breaking the rules of social behavior
EBERE S REEME Fries M Crapo B i, BT 8] Fries #1 Crapo W —4& A B4
HESIBAESORE, NMRERY BC, IEEXEANTIRESFL, £
‘BBACHERRE (AT, R“BRHECHERTHORBEMNEZE(BI), R
“GEBLEREACHER(CH), ER“BHHLTHOERN"(D W), XER, ET
WA A #4838 J5 18 1) 5] B B, Fries 1 Crapo T T — 4~ b 75 (drew a comparison) .
HATE, BARAEC EBREMAER LBSREEMNTRA IR, OREEE
% (is similar to attempting suicide)—#, BT R, CHARER,BHRE 40% K
SHEIFEEENAE, N TIREERE,EESE AL, RS
MEXHRREERN—AEEFE,
. BREERNSE
i A WA, B R R 4 R4, R K B R .
< BN, X% 6GSH2 5 26 &
26. The author’ s attitude towards the current situation in the exploitation of nat-

XHt



ural resources is .
A) positive C) suspicious
B) neutral D) critical
AENERUR, ERFARTHBTEENARARRERAARNSE . REERN
SEAT)? BRBR—MERXFEARME “PH"SE B )? R RBRIFEE
SECH)? RRRBMWEARE (D I)? @I XENEFHNST, RITHE D I
ERER, 65% WELEEXTHE, HBEHNE, FIL 14%BRHKFEHNEERE
TAT ERAXEFEERFEBEEEIRLEMNFHHERTENIRIFHE
B
Xn.id¥ 6DWH2 55 29 &
29. In this passage the author argues that
A) more and more evidence shows college education may not be the best thing
for high school graduates
B) college education is not enough if one wants to be successful
C) college education benefits only the intelligent, ambitious, and quick
learning people
D) intelligent people may learn quicker if they don’t go to college
FEERFAREXENFEBIEENR R, NSSOKRE XTI A BER,68% K%
HEMNEE, BT BHERRERESAMR, UMNEERKRFHEFES S, WRREX
B,EREET BUFAE FTUSENEERRD,H 19%, HXHFRREE R TH
WHE. BALEEERET CHED I, BARXEEZFHNER,
UL R ERBREENSE, ARRESA TERERK HEEE,
7. HEWE X
B2 R BRB R AR W B, RS BT SO iR 2 B IR AR B — B 4.
filn . ik # 61SH2 55 26 &
26. The word “liability” (Line 4, Para. 1) most probably means *
A) misfortune C) disadvantage
B) instability D) burden
ABEEEERE LT XHMA KRS, BRGERRA,0%WEERAXMEES,
BETER CH, MIIBEM LT XPFH B lability EFEXFR“AFHZH"HER. B
HEIEFEBAEPAL—BAEFE BT FERFLLHER, SR, ZRRMEMNE
. BRESB 1 BRBE—AEERT RABEITHER but, RAFETPH liability BF
RGBS E, BIAR K, B2 BE 1 AFEEARER,a positive factor for a man . ..
harmful to a woman, XEM“BRBER"YREFFRG, ENZAETEF, BEZ, MK
ABRNMAF &M, BHETIE,®H 6 BRI T advantage —ia, ¥t disadvantage th & — 1B
A, AR, AEE C TINRERTEN. BT, BRNE W EMNREN XENE
f# o
8. HITHHMEES
FEEBRAEEZHETHR, MECERE ZMBETIIIR, FL L, EHE
BOAEERECANMRERA, AFUESE, XBEFROBHEES, RIEEREES
Xv -



TR AR MPORMME BN, TENGAFAMNTHEARX &,
40 . ik % 6ISH2 5 35 &
35. The passage is most likely a part of

A) a news article

B) a journalistic interview

C) a research report

D) a preface

FEEREAEEESCHEM AR REEAFT RN B BNFERDG
B—80 ERTFRAREN B> EREAXVHFTH -7 ABMKELETHA
XEGTRAARESHFS WEREEEEXGHIEEIINARETH ARBRE FFEMRE
FHAIR) . RERSIFH —FF 4 (47.8% )X T &M,

SRR, MENGR MBI RNEHERNE SN, EREREPAEE
BENRBEENESRHN  CEBEYARRRK EH NG FREXF¥EEE
BB UEER TR, BRBA LR ENRFER

WL AR R 4 A

MR BB TR E S 2 EERLMERNEYT L FrE— &

LR A .

1. B X, BEEL E R L XE R A%, REPALRREREXF, B
HEERAMEENRFEINEME G HAMECHHME CAERE LT XHHS5]
BB, RS S AR 2 5, XA R S0 th 4RSS, BUM0: habit, cus-
tom, tradition B[R XiF, E—EM G UEHRER  BEES -GS AEL
B, FAREFRBFL LR HIEHKE, BIA0; effect F affect;adopt M adapt, Mt
AN REMNESIBRENARMIER, AENRXEERET 2%, ZIEIEF L
KT REEEITHEBEREZ —;

2. BEME, BB 2R SEAENEE,3E S5 L2 FEKNEE,3E. 47 SERFRSAH
FREE, A S5EANER, 5%, XEERHEE S, TR, £&E4AENCH
EEREEMFERER;

3. IBEEWMEE, FERNE GES  BELER ERENE NG (BEERFERMXR
RABXRBEDEFE R RE . FEH1R, 78R E B IE 5% J B 2 2 A ] ff B 25 R ]
A FEN, EEREEEZRXPES HEH KR,

(GESAEE:S:
“MERESE TEEEEEMNTERIM BB TIERZEE S,
“f81 48 [E] & & (Short Answer Questions) ZHEE“BFIEBME" B4 2 G, BRERA N —
BXE,XEFESNABRAZENA T, BRERNEXEZE AR ENIEE(TURR
F, AT AR BIA S EIE ) B & AT IR A R BT b R A2 BB AT, ZikntE N 15 24,
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848 (Error Correction) £—f EMEAM AL X, “UENEWRNA¥ELEGEH
L] 2 i&%ﬁﬁ%,iﬂ(%ﬂﬂlﬁﬁiﬁﬂiﬁ"ﬁ’éﬁﬁﬁﬂﬁﬂiﬁﬁéﬁ,@.ﬁﬁiﬂﬂlﬁ"’?iﬁlﬁ]{fﬂ%
ZHER, URHERFEINES.

BEEGEEER— 200 AIEANE, KHHE 10 MEESHMBRTERER, 2
WEG LS 10579, X 10THFBTRE—-THER, XTMERIBRENAET —
WA AR RERM, B R E I E A NMASS AN g R, HEKNiE R gk
REXNBEAEZEGREBEN, TRHEEE MR HE, LA BRE R IBEERRBEE RN
A A AARTEEAE NGBS A B BEFEEFTENER. ANERER—&
BRAFP-RAERN AHERVNLFAERSER LT XRER EA BRI, B£E
BEBR—EEAEREHERS L, EENESRMEKELT X,

BAUBEEREATAFHELR ERBAER, ERUESR, HAB RN, JH%
B AERARERPERE, ARIESRLN EAFS;

BIERHIRE, EEE A BMHNBFHRAE LB S ERMERRERE; mREXHE
ZREE, M LFER MR FIRE LR —HL, ERBETFR—A, 6k EM—
ETHRZEYRERY. BXRN  REEH -0, MEZRFAN, BKIEN -1,
ZRMEEE R, FHh B TRERMBUKEEHERITHES, HESSEN, JLED
EREE, ZEEAREBS,

FHARBRE RKABFRELFRENEITABERFIGENEEFER,

FHAALAREIHEERTER FHNE BRRBA S EEFER, Wil AE
BWT KIMASRIE, DEABBUH

LERZREN AEFRERS
19994 A5H
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Part 1

Section A

A —

Listening Comprehension (20 minutes)

Directions: In this section, you will hear 10 short conversations. At the end of each conversation,

Example:

a question will be asked about what was said. Both the conversation and the question
will be spoken only once. After each question there will be a pause. During the pause,
you must read the four choices marked A), B). C) and D), and decide which is the
best answer. Then mark the corresponding letter on the Answer Sheet with a single
line through the centre.

You will hear:

You will read:
A) 2 hours.
B) 3 hours.
C) 4 hours.
D) 5 hours.

From the conversation we know that the two were talking about some work they will
start at 9 o °clock in the morning and have to finish at 2 in the afternoon. Therefore, D)
“5 hours” is the correct answer. You should choose [D] on the Answer Sheet and
mark it with a single line through the centre.

Sample Answer [A] [B] [C] HM

1. A) He is still being treated in the hospital.
B) He has had an operation.
C) He’ll rest at home for another two weeks.
D) He returned to work last week.

2. A)8s5. C) 64.
B) 70. D) 31.

3. A) To meet Tom Wang. C) To go to hospital.
B) To work in his office. D) To attend a meeting.

4. A) She was afraid she might be kept too late.
B) She would have something more important to do.
C) She had to meet a friend of hers.
D) She was not in the mood to attend the party.



